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Exercise 1 1

1. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

−3 □ − 5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_g6IEMIBOTio2


2. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

−2 □ 5 − 4

3. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

8 − 4 □ − 3

4. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

−6 □ 5 − 0

https://dl.doubtnut.com/l/_JyiDEwYXuwUW
https://dl.doubtnut.com/l/_a6EI0YtWL614
https://dl.doubtnut.com/l/_6pOVmMdUHMt1


5. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

5 □ 8 − 3

6. Use the appropriate symbol  to fill in the blanks 


Watch Video Solution

> , ≤

0 □ − 3

7. Arrange the following integers in ascending order. 

Watch Video Solution

−2, 12, − 43, 31, 7, − 35, − 10

https://dl.doubtnut.com/l/_HE4m6SdZmzIK
https://dl.doubtnut.com/l/_VPATJhsSnFNn
https://dl.doubtnut.com/l/_fVRuaKad4wEn


8. Arrange the following integers in ascending order. 

Watch Video Solution

−20, 13, 4, 0, − 5, 5

9. Arrange the following integers I descending order 

Watch Video Solution

0, − 7, 19, − 23, − 3, 8, 46

10. Arrange the following integers I descending order 

Watch Video Solution

30, − 2, 0, − 6, − 20, 8

https://dl.doubtnut.com/l/_3zjDyfrFn83l
https://dl.doubtnut.com/l/_UNOxXbE2EvEc
https://dl.doubtnut.com/l/_N0Wed7h9fIEi


11. Evalute : 

Watch Video Solution

30 − | − 21|

12. Evalute : 

Watch Video Solution

| − 25| − | − 18|

13. Evalute : 

Watch Video Solution

6 − | − 4|

https://dl.doubtnut.com/l/_77MGNtGDtfUN
https://dl.doubtnut.com/l/_Zxoh48vD4ZXD
https://dl.doubtnut.com/l/_70axvKSFywXa


Exercise 1 2

14. Evalute : 

Watch Video Solution

| − 125| + |110|

1. Fill in the blanks using properties of adddition and

subtraction of integers. 

Watch Video Solution

10 + [( − 5) + ( − 7)] = [(10 + ( − 5)] + □

2. Fill in the blanks using properties of adddition and

subtraction of integers. 

https://dl.doubtnut.com/l/_gB01ukaA7EWv
https://dl.doubtnut.com/l/_19WkYxdiVuny
https://dl.doubtnut.com/l/_H9LyFvRhbtn9


Watch Video Solution

25 − 10 = − 10 + □

3. Fill in the blanks using properties of adddition and

subtraction of integers. 

Watch Video Solution

20 + 15 = 15 + □

4. Fill in the blanks using properties of adddition and

subtraction of integers. 

Watch Video Solution

( − 12) + 37 = 37 + □

https://dl.doubtnut.com/l/_H9LyFvRhbtn9
https://dl.doubtnut.com/l/_izECkLIHqIJu
https://dl.doubtnut.com/l/_0oZhFsH6U4kc


5. Fill in the blanks using properties of adddition and

subtraction of integers. 

Watch Video Solution

15 + ( − 2) = □

6. Fill in the blanks using properties of adddition and

subtraction of integers. 

Watch Video Solution

−17 + □ = − 17

7. The difference between two integers is -10. If first integer is 17,

then find the other integer.

Watch Video Solution

https://dl.doubtnut.com/l/_WKjtqMZgmSDP
https://dl.doubtnut.com/l/_sTAyHTYJUW5n
https://dl.doubtnut.com/l/_iAD3ZEX8BPzJ


8. Write three consecutive odd integers succee-ding (-93):

Watch Video Solution

9. At sunrise, the outside temperature was  below zero. It the

afternoon the temperature rose by  and then fell by  at

night. What was the temperature at the end of the day?

Watch Video Solution

7∘

13∘ 8∘

10. Manjeet Singh has a bank balance of Rs -430 at the start of

the month. What was the bank balance, after he deposited Rs

250?

Watch Video Solution

https://dl.doubtnut.com/l/_iAD3ZEX8BPzJ
https://dl.doubtnut.com/l/_XHAPqg9Oa06g
https://dl.doubtnut.com/l/_V276xkMCVzxC
https://dl.doubtnut.com/l/_WkJweszj3OjT


Exercise 1 3

11. Mount Everset, the highest elevation in Asia, is 29028 feet

above the sea level. The Dead Sea is 1312 feet below the sea

level. What is the difference between these two elevations?

Watch Video Solution

12. In a quiz, Team A scored 70,-15,30. Team B scored -15, 70, 30

and team C scored 30, 70, -15. Which team scored better ? What

conclusion do you draw ? 

Watch Video Solution

https://dl.doubtnut.com/l/_UQySMXii9IWF
https://dl.doubtnut.com/l/_WSZev4ElqNoJ


1. Verify : 

Watch Video Solution

15 × [9 + ( − 6)] = (15 × 9) + (15 × ( − 6)]

2. Verify :

Watch Video Solution

18 × [( − 5) + ( − 4)] = [(18) × ( − 5)] + [18 × ( − 4)]

3. Fill in the blanks : 

Watch Video Solution

15 × □ = 0

https://dl.doubtnut.com/l/_mmgcmEq5gXp8
https://dl.doubtnut.com/l/_7ZtH1kR4xq8U
https://dl.doubtnut.com/l/_LXlcLyCLIFqH


4. Fill in the blanks : 

Watch Video Solution

−25 × □ = 25

5. Fill in the blanks : 

Watch Video Solution

( − 15) × 18 = □ × ( − 15)

6. Fill in the blanks : 

Watch Video Solution

( − 10) × [( − 15) + ( − 5)] = 9( − 10) × □ + ( − 10) × ( − 5)

https://dl.doubtnut.com/l/_piXe4yv0oTW1
https://dl.doubtnut.com/l/_0nGergtmmXC0
https://dl.doubtnut.com/l/_v5PF7waU5ZmY


7. Fill in the blanks : 

Watch Video Solution

( − 6) × [( − 5) × ( − 18)] = ( − 6) × □ × ( − 4)

8. Find product using properties 

Watch Video Solution

15 × ( − 20) + ( − 20) × ( − 5)

9. Find product using properties 

Watch Video Solution

(15 × 8) × 50

https://dl.doubtnut.com/l/_naDwkbTIXG4M
https://dl.doubtnut.com/l/_BJgDem3KNIKL
https://dl.doubtnut.com/l/_HKuN5AhXbtHa


10. Find product using properties 

Watch Video Solution

8 × (40 − 5)

11. Find product using properties 

Watch Video Solution

510 × ( − 45) + ( − 510) × 55

12. In a class test containing 15 questions, 2 marks are awarded

for every correct answer and (-1) mark for every incorrect answer

and 0 mark for questions not attempted. 

Kritika gets 5 correct and 10 incorrect answer. What is her score

?

https://dl.doubtnut.com/l/_C6pUO9QdHC7s
https://dl.doubtnut.com/l/_iRKUBRcbVOJn
https://dl.doubtnut.com/l/_OJMBmCv7UJDt


Exercise 1 3 Multiple Choice Questions

Watch Video Solution

13. In a class test containing 15 questions, 2 marks are awarded

for every correct answer and (-1) mark for every incorrect answer

and 0 mark for questions not attempted. 

Rohan gets 7 correct and 7 incorrect answers out of 14

questions he attempted. What is his score ?

Watch Video Solution

1. (-19)-(13) is equal to

A. 

B. 6

−32

https://dl.doubtnut.com/l/_OJMBmCv7UJDt
https://dl.doubtnut.com/l/_jfdy3nLOBEKE
https://dl.doubtnut.com/l/_MBPTaHoFKg69


C. 

D. none of these

Answer: a

Watch Video Solution

−6

2.  is equal to

A. 0

B. 

C. 

D. 30

Answer: a

Watch Video Solution

( − 6) × ( − 5) × 0

−6

−5

https://dl.doubtnut.com/l/_MBPTaHoFKg69
https://dl.doubtnut.com/l/_HhU1CSpVB7II


3.  is equal to

A. 0

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

0 ÷ ( − 10)

−1

−10

4.  is equal to

A. 3300

B. 

( − 33) × 102 + ( − 33) × ( − 2)

−3300

https://dl.doubtnut.com/l/_HhU1CSpVB7II
https://dl.doubtnut.com/l/_Cu2v9yIP1fOP
https://dl.doubtnut.com/l/_eVFIMX5Oriej


C. 3432

D. 

Answer: b

Watch Video Solution

−3432

5.  is equal to

A. 

B. 101

C. 

D. 102

Answer: a

Watch Video Solution

101 × ( − 1) + 0 × ( − 1)

−101

−102

https://dl.doubtnut.com/l/_eVFIMX5Oriej
https://dl.doubtnut.com/l/_8a3L2b9XtH8I


Exercise 1 4

1. Evaluate each of the following : 

Watch Video Solution

76 ÷ 19

2. Evaluate each of the following : 

Watch Video Solution

( − 156) ÷ ( − 12)

3. Evaluate each of the following : 

( − 125) ÷ ( − 1)

https://dl.doubtnut.com/l/_8a3L2b9XtH8I
https://dl.doubtnut.com/l/_J80aY9TfLbZh
https://dl.doubtnut.com/l/_pVvEjAxCOZCK
https://dl.doubtnut.com/l/_CG3bXCrimyOp


Watch Video Solution

4. Evaluate each of the following : 

Watch Video Solution

( − 125) ÷ ( − 1)

5. Evaluate each of the following : 

Watch Video Solution

0 ÷ ( − 5)

6. Evaluate each of the following : 

Watch Video Solution

( − 15) ÷ (15)

https://dl.doubtnut.com/l/_CG3bXCrimyOp
https://dl.doubtnut.com/l/_lHxjWO3sVuIq
https://dl.doubtnut.com/l/_URy56LYfbk5r
https://dl.doubtnut.com/l/_lWk15JqQUheu


7. Write all even integers between -18 and 0.

Watch Video Solution

8. Write all odd integers between -9 and 9.

Watch Video Solution

9. By what number should (-240) be divided to obtain 16 ?

Watch Video Solution

10. Find the value of : 

h id l i

125 ÷ [5 ÷ ( − 1)]

https://dl.doubtnut.com/l/_lWk15JqQUheu
https://dl.doubtnut.com/l/_GhqPOrD1DAXL
https://dl.doubtnut.com/l/_aXRGC1ynnOdk
https://dl.doubtnut.com/l/_bFBiqKY1nJov
https://dl.doubtnut.com/l/_UtcrNlfZcUas


Watch Video Solution

11. Find the value of : 

Watch Video Solution

[169 ÷ 13] ÷ [26 ÷ 2]

12. Find the value of : 

Watch Video Solution

[( − 105) ÷ 3] ÷ 7

13. Simplify : 

Watch Video Solution

12[8 + 27 ÷ (2 × 8 − 7)]

https://dl.doubtnut.com/l/_UtcrNlfZcUas
https://dl.doubtnut.com/l/_W2dcVS2jsjrJ
https://dl.doubtnut.com/l/_NIKJP7JOUEqV
https://dl.doubtnut.com/l/_AqQvDhILTsQq
https://dl.doubtnut.com/l/_EWYzE6fhr4pB


Exercise 1 4 Multiple Choice Questions

14. Simplify : 

Watch Video Solution

10 − [8 − {11 + 30 ÷ (4 + 2)}

1. 

A. 

B. 

C. 4

D. 

Answer: B

Watch Video Solution

( − 8) ÷ 2 =

−16

−4

−8

https://dl.doubtnut.com/l/_EWYzE6fhr4pB
https://dl.doubtnut.com/l/_5n31td6mb6ay


2. 

A. 

B. 49

C. 

D. none of these

Answer: D

Watch Video Solution

( − 7) ÷ ( − 7) =

−1

−49

3. 

A. 1

B. 2

0 ÷ 2 =

https://dl.doubtnut.com/l/_sVUWN6VQ5yVm
https://dl.doubtnut.com/l/_ZZAxUifjE6sI


Other Important Questions Multiple Choice Questions

C. 

D. 0

Answer: D

Watch Video Solution

−2

1. Which property is used in

A. Associative property for addition of integers.

B. Commutative property for addition of integers.

C. Integers are closed under addition.

D. Additive identity property of integers.

( − 8) + ( − 9) = ( − 9) + ( − 8)?

https://dl.doubtnut.com/l/_ZZAxUifjE6sI
https://dl.doubtnut.com/l/_zCQXCKmvoBeu


Answer: B

Watch Video Solution

2. Which property is used in

A. Commutative property for addition of integers.

B. Associative property for addition of integers.

C. Additive identity property of integers.

D. Integers are closed under addition.

Answer: B

Watch Video Solution

( − 5) + [( − 3) + ( − 2)] = [( − 5) + ( − 3)] + ( − 2)?

https://dl.doubtnut.com/l/_zCQXCKmvoBeu
https://dl.doubtnut.com/l/_zmM9urIjSgk3


3. Which property is used in

A. Commutative property for multiplication of integers.

B. Associative property for multiplication of integers.

C. Distributive property of multiplication of integer over

addition.

D. Multiplicative identity property of integers.

Answer: B

Watch Video Solution

[( − 3) × ( − 2)] × 5 = ( − 3) × [( − 2) × 5)] ?

4. Which of the following statements is not true for any two

integers a and b ?

https://dl.doubtnut.com/l/_yCH7GDlcxGha
https://dl.doubtnut.com/l/_qPrkXdZSfN9i


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a × b = ab

a × ( − b) = − ab

( − a) × b = − ab

( − a) × ( − b) = − ab

5. Which of the following statements is not true for integer a?

A. 

B. 

C. 

D. 

a + 0 = a

a × 0 = 0

a × 1 = a

a + 1 = a

https://dl.doubtnut.com/l/_qPrkXdZSfN9i
https://dl.doubtnut.com/l/_r9ewzJG7PEor


Answer: D

Watch Video Solution

6. Which of the following statement is not true ?

A. Integers are closed under addition.

B. Integers are closed under subtraction.

C. 1 is additive identity of integers.

D. Associative property over addition is true for integers.

Answer: C

Watch Video Solution

7. Which of the following statement is not true ?

https://dl.doubtnut.com/l/_r9ewzJG7PEor
https://dl.doubtnut.com/l/_PzfDP9cSyKjM
https://dl.doubtnut.com/l/_mgSmN3R4oc0a


A. 

B.  Not defined

C. 

D. 

Answer: D

Watch Video Solution

a ÷ 1 = a

a ÷ 0 =

0 ÷ a = 0

1 ÷ a = 1

8. Which property of following will be used to solve

?

A. Commutative property for addition of integers.

B. Associative property for multiplication of integers.

26 × ( − 48) + ( − 48) × ( − 36)

https://dl.doubtnut.com/l/_mgSmN3R4oc0a
https://dl.doubtnut.com/l/_dTb9etCrakJR


C. Distributive property of multiplication of integer over

addition.

D. Integers are closed under addition property.

Answer: C

Watch Video Solution

9. Which of the following are in ascending order of integer

4,0,-5,-4?

A. 0,-5,-4,4

B. 

C. 

D. 0,-4,4,-5

−4, − 5, 0, 4

−5, − 4, 0, 4

https://dl.doubtnut.com/l/_dTb9etCrakJR
https://dl.doubtnut.com/l/_6Arkm9CvHRDP


Answer: C

Watch Video Solution

10. Which of the following statements is not true ?

A. The sign of product of two negative integers is positive.

B. The sign of product of 5 negative integers and four

positive integers is positive.

C. The sign of product of one negative integer and two

positive integers in negative.

D. The sign of product of eight negative integer and three

positive integers is positive.

Answer: B

https://dl.doubtnut.com/l/_6Arkm9CvHRDP
https://dl.doubtnut.com/l/_Smcc7toiL78i


Other Important Questions Ii Fill In The Blanks

Watch Video Solution

1. Zero is ………….. Identity of integers.

Watch Video Solution

2. The difference of two integers is an ……………..

Watch Video Solution

3. For integers a, b and c 

 ……………..

Watch Video Solution

a × (b + c) =

https://dl.doubtnut.com/l/_Smcc7toiL78i
https://dl.doubtnut.com/l/_r9v6Dir2Eznp
https://dl.doubtnut.com/l/_IQxK4173GmeE
https://dl.doubtnut.com/l/_7jbJvAdZb3SF


4. For every non-zero integer a, 

………………..

Watch Video Solution

0 ÷ a =

5. All integers which are not exactly divisible by 2 are called

………………

Watch Video Solution

6. For a non-zero integer  ……………..

Watch Video Solution

a, a ÷ a =

https://dl.doubtnut.com/l/_7jbJvAdZb3SF
https://dl.doubtnut.com/l/_bZkw2sHiLoAz
https://dl.doubtnut.com/l/_KhgOMKR0fUX5
https://dl.doubtnut.com/l/_X9MRxFASDYAp


Other Important Questions Iii State Whether The Following

Statements Are True Or False

7. .....................

Watch Video Solution

−20 − | − 12| =

8. 

Watch Video Solution

( − 93)............. ( − 92)

1. Zero is an integer which is neither positive nor negative.

Watch Video Solution

https://dl.doubtnut.com/l/_7VzWqO6KGTBr
https://dl.doubtnut.com/l/_qxtUutPRtICc
https://dl.doubtnut.com/l/_3r0hxl8yaQdz


2. The sum of two integers is not an integer.

Watch Video Solution

3. Subtraction of integers is not commutative.

Watch Video Solution

4. Division of integers with same sign gives quotient with a

positive sign.

Watch Video Solution

5. When an integer is divided by another the quoitent needs to

be an integer.

https://dl.doubtnut.com/l/_0YfHkvr0N9gD
https://dl.doubtnut.com/l/_nkgqozy63VTi
https://dl.doubtnut.com/l/_Fp6gaxzzbOIs
https://dl.doubtnut.com/l/_FBLmJEHXLEt3


Watch Video Solution

6. 0, 1, 2, 3, -4, …………… are known as positive integers.

Watch Video Solution

7. Additive inverse of a is (-a).

Watch Video Solution

8. Subtraction of integers is associative.

Watch Video Solution

https://dl.doubtnut.com/l/_FBLmJEHXLEt3
https://dl.doubtnut.com/l/_nYySGbMqWwXs
https://dl.doubtnut.com/l/_whFqgQgRh2ak
https://dl.doubtnut.com/l/_jn1XnQHzkJap

